<u> </u>
2021
ග
0
AUG
<1
<u></u>
4
SCANNED
Ç
תו

Form	9 <b>90-</b> Ť	Ĺ	Exempt Organization (and proxy t	on Business ax under sec				eturn	0	MB No 1545-0047
		For cale	ndar year 2019 or other tax year be	eginning 7/1	2019,	and ending	6/30	, 20 20	.[	2019
Departm	ent of the Treasury		► Go to www.irs.gov/Form						Open	to Public Inspection for
	Revenue Service	►Do	not enter SSN numbers on this fo	rm as it may be made	public	if your orga	nization	is a 501(c)(3).	501(c	to Public Inspection for )(3) Organizations Only
A 🗆 🖁	Check box if address changed	]	Name of organization (	box if name changed	and see	instructions	)			dentification number trust, see instructions)
	pt under section	Print	Rensselaer Polytechnic Instit						pioyees	addi, dec mandellond /
_	01( c )	or	Number, street, and room or suite	no If a P O box, see ii	nstructio	ons		E Un		-1340095 usiness activity code
∐ 40		Туре	110 Eighth Street						e instruc	· ·
L 40	_ ,,		City or town, state or province, col	untry, and ZIP or foreig	n posta	code				
	29(a) value of all assets	F Gr	Troy, NY 12180	instructions )	_					532000
at en	d of year		oup exemption number (See		on	□ 501/	c) trust	<b>√</b> 401(	a) trus	t  Other trust
H En	ter the number	<u> </u>	organization's unrelated trade			1				r first) unrelated
	ade or business		_							one, describe the
firs tra	st in the blank ade or business	space a	at the end of the previous so complete Parts III-V.	entence, complete	Part	s I and II,	complet	e a Schedu	ıle M f	or each additional
			e corporation a subsidiary in ar			nt-subsidia	ry contro	ollea group?	. •	Yes 🗹 No
			<ul><li>and identifying number of the CONTROLLER'S OFFICE</li></ul>	e parent corporati	∪Π. <b>►</b>	Tolo	nhono =	umber 🏲		(540) 070 0500
			e or Business Income			(A) Inc		umber ▶ (B) Exper		(518) 276-6426 (C) Net
1a	Gross receipt			T		(2) 110		+ (=) Exper		(5, 10)
b	Less returns a			c Balance ▶	1c			,* *		
2			Schedule A, line 7)		2	<u> </u>		J ;		7.51
3	-	-	t line 2 from line 1c		3					
4a	•		me (attach Schedule D) .		4a			*,	-/	
b			4797, Part II, line 17) (attach	Form 4797) .	4b			,		
С	Capital loss d	eductio	n for trusts		4c			: /		
5	Income (loss)	from '	a partnership or an S cor	rporation (attach						-
	statement)		· · · · · · · · · · · · · · · · · · ·		5			<u></u>		
6	,	•	ıle C)		6		201,063		87,116	113,947
7			, ,		7		/			
8	·	•	s, and rents from a controlled organ		8					
9			ection 501(c)(7), (9), or (17) organi		9	/				
10		-	civity income (Schedule I) .	• • • •	10	/				
11	_		Schedule J)		17			, · · · · ·		
12 13		•	structions; attach schedule) 3 through 12		12	<del></del>	201 050			110.017
	Deductio	ne Mot	: Taken Elsewhere (See in:	etructions for lim	tation	s on dedi	201,053	(Deductio	87,116	
			the unrelated business inco		lation	s on dead	ictions.,	Deductio	iis iiiu	St be directly
14			cers, directors, and trustees						14	
15									15	
16	Repairs and n	nainten:							16	
17	Bad debts		/						17	
18	•		dule) (see instructions) .						18	
19	Taxes and lice	enses .	/				; .		19	
20	Depreciation (	(attach	Form 4562)				0		_	
21			umed on Schedule A and els			. `. [2	1a		21b	
22									22	<u></u>
23			rred compensation plans		FCI	EIVEC	, ¬¬		23	<u></u>
24			ograms			LA CT			24	<del> </del>
25 26			nses (Schedule I)	1. 1		<b>当</b> 。。.	ြಜ္ထု		25	
27	Other deduction	ione /att	osts (Schedule J)		AY •/1	. <b>87</b> 202	0-5		26	-
28			dd lines 14 through 27		<u> </u>	· · ·	_기롰	•	28	
29	Unrelated bus	siness t	axable income before net op	erating loss ded	<del>j</del> Di	Sintradtli	e 28 f	nm line 13	29	113,947
30	Deduction for	r net o	perating loss arising in tax	years beamming	ジェン・L <del>-011-01</del>	≃after Jar	warv-	2018 (see		113,947
									30	
31/	/		axable income. Subtract line		•				31	113,947
For Pa			Notice, see instructions.		_	t No 11291.				Form <b>990-T</b> (2019)

Form 990	)-T (2 <b>0</b> 19)						Page 2
Part I	I To	tal Unrelated Business Taxa	ble Income				
32 /	Total of	unrelated business taxable inco	me computed from all unrelated trad	es or businesses (	seę		
	ınstructı	ons)				32	372,561
33	Amount	s paid for disallowed fringes			. [	3\$	-
34	Charitat	ole contributions (see instructions	for limitation rules)			34	
			before pre-2018 NOLs and specific de				
		the sum of lines 32 and 33				35	372,561
36	Deducti	on for net operating loss arisi	ng in tax years beginning before 3	January 1, 2018 (			
					\ //	36	372,561
		•	ne before specific deduction. Subtract			37	0
			see line 38 instructions for exceptions		-	3B	0
			ubtract line 38 from line 37. If line 38 i		_	<del>-      </del>	
						39	0
Part I		x Computation		<u> </u>		1	
			s. Multiply line 39 by 21% (0.21)	<del></del>		40	
			see instructions for tax computati			+0	
			schedule or Schedule D (Form 1		-	41	
		<del>-</del>	<del>-</del>	•	<b>⊢</b>	42	
	_					43	
, ,		ive minimum tax (trusts only) .			.  -	43	
			See instructions		. }	45	
			or 41, whichever applies	<u> </u>		45	0
		x and Payments	1440. hunda alla la Farra 4446\	140-			
	_		orm 1118; trusts attach Form 1116).	46a			
		,		46b		l	
			00 (see instructions)	46c		į	
		•	Form 8801 or 8827)	46d		<u> </u>	
		redits. Add lines 46a through 46d			ļ.	46e	0
					·  -	47	0
			Form 8611 🔲 Form 8697 🔲 Form 8866 🔲			48	
			ictions)			49	0
			965-A or Form 965-B, Part II, column (	1 1	٠	50	
			to 2019	51a		- 1	
		- ·		51b		.	
				51c		` 、	
	_	-	eld at source (see instructions)	51d		.	
		withholding (see instructions)		51e			
			e premiums (attach Form 8941)	5 f		]	
		redits, adjustments, and payment				t,	
		14136 14,704.42 🗌	<del></del>	51g 14,7	04.42		
52	-	ayments. Add lines 51a through :	•		_	52	14,704.42
			Check if Form 2220 is attached	▶	□ [	53	
			f lines 49, 50, and 53, enter amount ow	1.3	า▶	54	
55	Overpa	yment. If line 52 is larger than the	e total of lines 49, 50, and 53, enter am	ount overpaid (\	<b>/▶</b> [	55	14,704.42
		amount of line 55 you want Credi		Refunded	<b>d</b> t	5ģ	14,704.42
Part \	VI St	atements Regarding Certair	Activities and Other Information	(see instructions)		\	
57	At any t	ime during the 2019 calendar yea	ar, did the organization have an interes	t in or a signature o	r othe	r author	rity Yes No
			s, or other) in a foreign country? If "Yes				
		Form 114, Report of Foreign Ba	nk and Financial Accounts. If "Yes," en	iter the name of the	: foreıç	an coun	try
	here <b>&gt;</b>						<b>✓</b>
58	During ti		ve a distribution from, or was it the grantor		foreigr	n trust?	/
	If "Yes,	" see instructions for other forms	the organization may have to file.				;
59			received or accrued during the tax year				
			nined this return, including accompanying schedules			my know	ledge and belief, it is
Sign		orect, and complete Declaration of preparer (	other than taxpayer) is based on all information of whice	ni preparer has any knowlet	M		discuss this return
Here	17_Z	a parations	VP for Financ	e & CFO			eparer shown below lons)? TYes TNo
	Sigrati	ire of officer	Date Title		L		
Paid	7	Print/Type preparer's name	Preparer's signature	Date	Check	ıf	PTIN
Prepa	arer				I	nployed	
		Firm's name ▶			Firm's	EIN►	
Use (	July	Firm's address ▶			Phone		

_		•
Pź	100	٠.

1 Inv 2 Pu 3 Co 4a Ac (at b Ot 5 To Schedul (see ins 1. Description (1) Rent of (2)	le A—Cost of Goods Solo ventory at beginning of year urchases ost of labor dditional section 263A cost ttach schedule) ther costs (attach schedule) otal. Add lines 1 through 4b le C—Rent Income (From structions) on of property f Hall	1 2 3 s 4a 4b 5		6 7 8	Inventory a Cost of go 6 from line I, line 2 Do the rule	t end of year  bods sold. Subtract line  5 Enter here and in Part	6		
2 PL 3 Co 4a Ac (at b Ot 5 To Schedul (see ins 1. Description (2) 3)	urchases ost of labor .  dditional section 263A cost ttach schedule) ther costs (attach schedule) otal. Add lines 1 through 4b le C—Rent Income (From structions) on of property	2 3 4a 4b 5	Property and	7	Cost of go 6 from line I, line 2 . Do the rule	bods sold. Subtract line 5 Enter here and in Part			
3 Co 4a Ac (at b Ot 5 To Schedul (see ins 1. Description (1) Rent of (2)	ost of labor	3 4a 4b 5	Property and		6 from line I, line 2 . Do the rule	5 Enter here and in Part	7		
4a Ac (at b Ot 5 To Schedul (see ins 1. Description (2) (3)	dditional section 263A cost ttach schedule) ther costs (attach schedule) otal. Add lines 1 through 4b le C—Rent Income (From structions) on of property	4a 4b 5	Property and	8	I, line 2 . Do the rule		7		
(at b Ot 5 To Schedul (see ins 1. Description 1.1) Rent of (2)	ttach schedule)	4a 4b 5	Property and	8	Do the rule		7		
b Ot 5 To Schedul (see ins 1. Description (1) Rent of (2) (3)	ther costs (attach schedule) otal. Add lines 1 through 4b le C—Rent Income (From structions) on of property	4b	Property and	8			1 1		
5 To Schedul (see ins i. Descriptio 1) Rent of 2) 3)	otal. Add lines 1 through 4b le C—Rent Income (From structions) on of property	5	Property and			es of section 263A (with	respect to	Yes	No
5 To Schedul (see ins i. Descriptio 1) Rent of 2) 3)	otal. Add lines 1 through 4b le C—Rent Income (From structions) on of property	1 -	Property and	<del></del>	property pr	roduced or acquired for re			
(see ins (see ins 1. Description 1) Rent of 2) 3)	le C—Rent Income (From structions) on of property	Real F	Property and	1		nization?			
(see ins 1. Description 1) Rent of 2) 3)	structions) on of property		TOPCILY GIR	Persona				<u> </u>	
1) Rent of 2) 3)	<del></del>					·	• •		
2)	f Hall								
(2) (3)		_							
				<del></del>					
4)									
	2. Rent	received o	r accrued						
	personal property (if the percentage of sonal property is more than 10% but n		(b) From real ar ercentage of rent			3(a) Deductions directly countries 2(a) and 2			ne
	more than 50%)		50% or if the rent	is based on pr	ofit or income)				
[1]	20	1,063						1	14,534
(2)									
(3)									
(4)			<del></del>						
Total	20	1,063 To	tal	_		(b) Total deductions.			
	ncome. Add totals of columns 20		b) Enter			Enter here and on page 1	,		
	on page 1, Part I, line 6, column (/		<u> </u>		201,05	Part I, line 6, column (B)	<u> </u>	1	14,534
Schedu	le E-Unrelated Debt-Fin	anced	Income (see	instructions	s)	2 Dadishara Jacobi sasa		0	
	Description of debt-finance	d property			come from or debt-financed	3. Deductions directly conn debt-finance	d property		
				pro	perty	(a) Straight line depreciation (attach schedule)	(b) Other of (attach s		
(1)									
(2)				-			<del></del>		
(3)									
(4)									_
4. / acc alloca	quisition debt on or	of or allo	d property	4 d	olumn ivided olumn 5	7. Gross income reportable (column 2 × column 6)	8. Allocable (column 6 × to 3(a) an		
(1)					- %				
(2)					%				-
(3)					%				
(4)					%				
						Enter here and on page 1, Part I, line 7, column (A)	Enter here ar Part I, line 7		
					_				
Totals	dends-received deductions incl			• •	. ▶				

Schedule F-Interest, Ann	uities,	noyaities,			Controlled Org	anizations (se	e instruc	Juons)	
Name of controlled organization		Employer cation number		elated income instructions)	4. Total of specified payments made	5. Part of colum included in the corganization's gro	controlling	conne	eductions directly ected with income in column 5
(1)									
(2)								-	
(3)	ļ							<del> </del>	
(4)	<u> </u>						_		
Nonexempt Controlled Organi	zations				·	<del></del>		_	
7. Taxable Income	7 Lavable Income I		let unrelated income ss) (see instructions)		otal of specified yments made	10. Part of column 9 that is included in the controlling organization's gross income		conne	eductions directly cted with income in column 10
(1)									
(2)									
(3)								1	
(4)									
Tatala						Add columns 5 Enter here and c Part I, line 8, co	on page 1,	Enter h	columns 6 and 11 here and on page 1, line 8, column (B)
Totals . Schedule G—Investment	Incom	e of a Sect	ion 501/	C1/71 /91	or (17) Organi	zation (see inst	tructions	9	
1. Description of income		2. Amount of		3. dire	Deductions ctly connected ach schedule)	4. Set-aside (attach sched	es	5. To and s	otal deductions et-asides (col. 3 plus col. 4)
(1)								<u>'</u>	,
(2)							İ		
(3)									·
(4)									
Totals	<b>•</b>	enter here and Part I, line 9, c	column (A)		Advantiaina lu	,		Part I, lı	re and on page 1, ne 9, column (B).
Schedule I - Exploited Ex	empt <i>F</i>	ctivity inc			T ":- " :	icome (see insi	Tuctions	<u>s)                                      </u>	
Description of exploited activ	rity	2. Gross unrelated business inco from trade of business	me con	Expenses directly nected with oduction of inrelated ness income	4. Net income (loss) from unrelated trade or business (column 2 minus column 3) If a gain, compute cols 5 through 7	5. Gross income from activity that is not unrelated business income	attnbu	penses table to amn 5	7. Excess exempt expenses (column 6 minus column 5, but not more than column 4)
(1)									
(2)									
(3)									
(4) Totals		Enter here and page 1, Part line 10, col (/	I. pad	here and on ge 1, Part I, 10, col (B)			,		Enter here and on page 1, Part II, line 25
Schedule J-Advertising	Incom	e (see instrii	ctions)		I				<u> </u>
Part I Income From F				a Consoli	idated Basis				
1. Name of periodical		2. Gross advertising income	,	3. Direct ertising costs	4. Advertising gain or (loss) (col 2 minus col 3) If a gain, compute cols 5 through 7	5. Circulation income		idership osts	7. Excess readership costs (column 6 minus column 5, but not more than column 4)
(1)		-					<del> </del>		, , , , , , , , , , , , , , , , , , ,
(1) (2)							-		
(3)					<del>                                     </del>		+		<del>-</del>
(4)				_	-		<del> </del>		
	_			•					<u> </u>
Totals (carry to Part II, line (5))	<u> </u>	l			<u> </u>	<u> </u>	<u>l</u>		<u> </u>

	eriodicals Reported line-by-line basis.)	on a coparac		T		
1. Name of periodical	2. Gross advertising income	3. Direct advertising costs	4. Advertising gain or (loss) (col 2 minus col 3) If a gain, compute cols 5 through 7	5. Circulation income	6. Readership costs	7. Excess readership costs (column 6 minus column 5, but not more than column 4)
(1)						
(2)						<u> </u>
(3)						<u> </u>
(4)						
Totals from Part I	<b>•</b>				•	
	Enter here and on page 1, Part I, line 11, col (A)	Enter here and on page 1, Part I, line 11, col (B)	`		÷	Enter here and on page 1, Part II, line 26
Totals, Part II (lines 1-5)	<b>▶</b>					
Schedule K-Compensation	on of Officers, Direc	tors, and Tru	stees (see instri	uctions)		
1. Name		:	2. Title	3. Percent of time devoted to business		ition attributable to ed business
(1)			·	9	6	
(2)			·	9	6	
(3)				9	6	
(4)		·		9	6	
Total. Enter here and on page 1, P	art II, line 14		•	<b>•</b>		

# Form 4136

Department of the Treasury

Internal Revenue Service (99)

## **Credit for Federal Tax Paid on Fuels**

▶ Go to www.irs.gov/Form4136 for instructions and the latest information.

OMB No 1545-0162

2019 Attachment

Name (as shown on your income tax return)

Sequence No 23

Taxpayer identification number

14-1340095

Rensselaer Polytechnic Institute

Caution: Claimant has the name and address of the person who sold the fuel to the claimant and the dates of purchase. For claims on lines 1c and 2b (type of use 13 or 14), 3d, 4c, and 5, claimant has not waived the right to make the claim. For claims on lines 1c and 2b (type of use 13 or 14), claimant certifies that a certificate has not been provided to the credit card issuer.

#### 1 Nontaxable Use of Gasoline

Note: CRN is credit reference number.

		(a) Type of use	(b) Rate	(c) Gallons	(d) Amount of cre	edit	(e) CRN
а	Off-highway business use		\$ 183	1			
b	Use on a farm for farming purposes		183	}			362
С	Other nontaxable use (see Caution above line 1)	13	.183	47,825.30	\$ 8,752	03	
d	Exported		.184				411

#### 2 Nontaxable Use of Aviation Gasoline

		(a) Type of use	(b) Rate	(c) Gallons	(d) Amount of credit	(e) CRN
а	Use in commercial aviation (other than foreign trade)		\$.15		\$	354
b	Other nontaxable use (see Caution above line 1)		193			324
C	Exported		194			412
d	LUST tax on aviation fuels used in foreign trade		001			433

#### 3 Nontaxable Use of Undyed Diesel Fuel

Claimant certifies that the diesel fuel did not contain visible evidence of dye

	Exception. If any of the dieser fuel included in this cia	im did contain visibil	evidence o	r dye, attach an exp	lanation and check here	<u>, ▶⊔</u>
		(a) Type of use	(b) Rate	(c) Gallons	(d) Amount of credit	(e) CRN
а	Nontaxable use	13	\$ 243	4,473.30		<del>                                     </del>
b	Use on a farm for farming purposes		243	}	\$ 1,087 0	1 360
С	Use in trains		243			353
d	Use in certain intercity and local buses (see Caution above line 1)		17			350
е	Exported		.244			413

#### 4 Nontaxable Use of Undyed Kerosene (Other Than Kerosene Used in Aviation)

Claimant certifies that the kerosene did not contain visible evidence of dye

Exception. If any of the kerosene included in this claim did contain visible evidence of dye, attach an explanation and check here

				<del>, , , , , , , , , , , , , , , , , , , </del>		
		(a) Type of use	(b) Rate	(c) Gallons	(d) Amount of credit	(e) CRN
а	Nontaxable use taxed at \$ 244		\$ 243	1	-	<del>                                     </del>
b	Use on a farm for farming purposes		.243	}	\$	346
С	Use in certain intercity and local buses (see Caution above line 1)		.17			347
d	Exported		244			414
е	Nontaxable use taxed at \$ 044		.043			377
f	Nontaxable use taxed at \$ 219		.218			369

▶ □

5 Kerosene Used in Aviation (see C	Caution above line 1)
------------------------------------	-----------------------

		(a) Type of use	(b) Rate	(c) Gallons	(d) Amount of credit	(e) CRN
а	Kerosene used in commercial aviation (other than foreign trade) taxed at \$.244		\$ 200		\$	417
b	Kerosene used in commercial aviation (other than foreign trade) taxed at \$ 219		175			355
С	Nontaxable use (other than use by state or local government) taxed at \$.244		243			346
d	Nontaxable use (other than use by state or local government) taxed at \$ 219		218			369
е	LUST tax on aviation fuels used in foreign trade		001			433

#### 6 Sales by Registered Ultimate Vendors of Undyed Diesel Fuel

#### Registration No. ▶

Claimant certifies that it sold the diesel fuel at a tax-excluded price, repaid the amount of tax to the buyer, or has obtained the written consent of the buyer to make the claim. Claimant certifies that the diesel fuel did not contain visible evidence of dye.

Exception. If any of the diesel fuel included in this claim did contain visible evidence of dye, attach an explanation and check here

		(b) Rate	(c) Gallons	(d) Amount of credit		(e) CRN
а	Use by a state or local government	\$ 243		\$		360
b	Use in certain intercity and local buses	17				350

#### 7 Sales by Registered Ultimate Vendors of Undyed Kerosene (Other Than Kerosene For Use in Aviation)

#### Registration No. ▶

Claimant certifies that it sold the kerosene at a tax-excluded price, repaid the amount of tax to the buyer, or has obtained the written consent of the buyer to make the claim. Claimant certifies that the kerosene did not contain visible evidence of dye.

Exception. If any of the kerosene included in this claim did contain visible evidence of dye, attach an explanation and check here

		(b) Rate	(c) Gallons	(d) Amount of credit	(e) CRN
а	Use by a state or local government	\$ 243	1		
b	Sales from a blocked pump	243	}	\$	346
С	Use in certain intercity and local buses	17			347

#### 8 Sales by Registered Ultimate Vendors of Kerosene For Use in Aviation

#### Registration No. ▶

Claimant sold the kerosene for use in aviation at a tax-excluded price and has not collected the amount of tax from the buyer, repaid the amount of tax to the buyer, or has obtained the written consent of the buyer to make the claim. See the instructions for additional information to be submitted.

		(a) Type of use	(b) Rate	(c) Gallons	(d) Amount of credit	(e) CRN
а	Use in commercial aviation (other than foreign trade) taxed at \$ 219		\$ 175	·	\$	355
b	Use in commercial aviation (other than foreign trade) taxed at \$ 244		200			417
С	Nonexempt use in noncommercial aviation		025			418
d	Other nontaxable uses taxed at \$ 244		243			346
е	Other nontaxable uses taxed at \$ 219		218			369
f	LUST tax on aviation fuels used in foreign trade		001			433

Form **4136** (2019)

# Pagistration No. ► (b) Rate (c) Gallons of alcohol Reserved for future use \$ (e) CRN Reserved for future use \$ (c) Gallons of alcohol

#### 10 Biodiesel or Renewable Diesel Mixture Credit

#### Registration No. ▶

Biodiesel mixtures. Claimant produced a mixture by mixing biodiesel with diesel fuel. The biodiesel used to produce the mixture met ASTM D6751 and met EPA's registration requirements for fuels and fuel additives. The mixture was sold by the claimant to any person for use as a fuel or was used as a fuel by the claimant. Claimant has attached the Certificate for Biodiesel and, if applicable, the Statement of Biodiesel Reseller. Renewable diesel mixtures. Claimant produced a mixture by mixing renewable diesel with liquid fuel (other than renewable diesel). The renewable diesel used to produce the renewable diesel mixture was derived from biomass, met EPA's registration requirements for fuels and fuel additives, and met ASTM D975, D396, or other equivalent standard approved by the IRS. The mixture was sold by the claimant to any person for use as a fuel or was used as a fuel by the claimant. Claimant has attached the Certificate for Biodiesel and, if applicable, Statement of Biodiesel Reseller, both of which have been edited as discussed in the instructions for line 10. See the instructions for line 10 for information about renewable diesel used in aviation.

		(b) Rate	(c) Gallons of biodiesel or renewable diesel	(d) Amount of credit	(e) CRN
а	Biodiesel (other than agri-biodiesel) mixtures	\$1 00		\$	388
b	Agri-biodiesel mixtures	1 00			390
C	Renewable diesel mixtures	1 00			307

#### 11 Nontaxable Use of Alternative Fuel

Caution: There is a reduced credit rate for use in certain intercity and local buses (type of use 5). See instructions.

		(a) Type of use	(b) Rate	(c) Gallons, or gasoline or diesel gallon equivalents	(d) Amount of credit		(e) CRN
а	Liquefied petroleum gas (LPG) (see instructions)	13	\$ 183	26,586.76	\$ 4,865	38	419
b	"P Series" fuels		183				420
C	Compressed natural gas (CNG) (see instructions)		183				421
d	Liquefied hydrogen		183				422
е	Fischer-Tropsch process liquid fuel from coal (including peat)		.243				423
f	Liquid fuel derived from biomass		243				424
g	Liquefied natural gas (LNG) (see instructions)		.243				425
h	Liquefied gas derived from biomass		183				435

#### 12 Alternative Fuel Credit

#### Registration No. ▶

		(b) Rate	(c) Gallons, or gasoline or diesel gallon equivalents	(d) Amount of credit	(e) CRN
а	Liquefied petroleum gas (LPG) (see instructions)	\$ 50		\$	426
b	"P Series" fuels	50			427
C	Compressed natural gas (CNG) (see instructions)	.50			428
d	Liquefied hydrogen	.50			429
е	Fischer-Tropsch process liquid fuel from coal (including peat)	50			430
f	Liquid fuel derived from biomass	.50			431
g	Liquefied natural gas (LNG) (see instructions)	50			432
h	Liquefied gas derived from biomass	.50			436
i	Compressed gas derived from biomass	50			437

Form 4136 (2019)

13 Registered Credit Card Issuers Registra				Registration No	Registration No. ►			
			(b) Rate	(c) Gallons	(d) Amount of credit	(e) CRN		
а	Diesel fuel sold for the exclusive use of a state or local	l government	\$ .243		\$	360		
b	Kerosene sold for the exclusive use of a state or local	government	243			346		
С	Kerosene for use in aviation sold for the exclusive use government taxed at \$ 219	of a state or local	218			369		
14	Nontaxable Use of a Diesel-Water Fuel Emuls	sion				_		
	Caution: There is a reduced credit rate for use in	n certain intercity	and local bu	ises (type of use	5) See instructions.			
		(a) Type of use	(b) Rate	(c) Gallons	(d) Amount of credit	(e) CRN		
а	Nontaxable use		\$.197		\$	309		
b	Exported		198			306		
15	Diesel-Water Fuel Emulsion Blending		1	Registration No	.▶			
			(b) Rate	(c) Gallons	(d) Amount of credit	(e) CRN		
	Blender credit		\$ 046		\$	310		
16	Exported Dyed Fuels and Exported Gasoline	Blendstocks						
			(b) Rate	(c) Gallons	(d) Amount of credit	(e) CRN		
а	Exported dyed diesel fuel and exported gasoline blend at \$ 001	dstocks taxed	\$ 001		\$	415		
b	Exported dyed kerosene		001			416		
17	Total income tax credit claimed. Add lines 1 th Schedule 3 (Form 1040 or 1040-SR), line 12, Form line 23c, Form 1041, Schedule G, line 16b, or the p	1120, Schedule J,	line 20b, Fo	m 1120-S,	\$ 14,704	42 4136 (2019		

#### SCHEDULE M (Form 990-T)

# Unrelated Business Taxable Income from an Unrelated Trade or Business

OMB No 1545-0047

2019

Department of the Treasury Internal Revenue Service

For calendar year 2019 or other tax year beginning 07/01, 2019, and ending 06/30, 20 20

► Go to www.irs.gov/Form990T for instructions and the latest information.

► Do not enter SSN numbers on this form as it may be made public if your organization is a 501(c)(3).

Open to Public Inspection for 501(c)(3) Organizations Only

	a the Organization			Employer ident		
	elaer Polytechnic Institute  nrelated Business Activity Code (see instructions) ► 52300				14-13400	)95
	nrelated Business Activity Code (see instructions) ► 52300 percribe the unrelated trade or business ► Investment in partners		-			
		Strips	-	T ::.:	1	
Pan	Unrelated Trade or Business Income		(A) Income	(B) Expense	es	(C) Net
1a	Gross receipts or sales				,z	, ,
b	Less returns and allowances c Balance ▶	1c		<u> </u>	,	- /
2	Cost of goods sold (Schedule A, line 7)	2				
3	Gross profit. Subtract line 2 from line 1c	3				
4a	Capital gain net income (attach Schedule D)	4a				İ
b	Net gain (loss) (Form 4797, Part II, line 17) (attach Form 4797)	4b				
С	Capital loss deduction for trusts	4c			,	
5	Income (loss) from a partnership or an S corporation (attach			4 .		
	statement)	5	262,143			262,143
6	Rent income (Schedule C)	6				7,7,7,9
7	Unrelated debt-financed income (Schedule E)	7			1 1-	
8	Interest, annuities, royalties, and rents from a controlled			·	1	· +
	organization (Schedule F)	8				
9	Investment income of a section 501(c)(7), (9), or (17)					
•	organization (Schedule G)	9				
10	Exploited exempt activity income (Schedule I)	10			<del>                                     </del>	
11	Advertising income (Schedule J)	11			+ +	
12	Other income (See instructions; attach schedule)	12			+ +	
13	Total. Combine lines 3 through 12	13	262,143		+ +	262,143
	connected with the unrelated business income.)					
14	Compensation of officers, directors, and trustees (Schedule K				14	
15	Salaries and wages				15	
16	Repairs and maintenance				16	
17	Bad debts				17	
18	Interest (attach schedule) (see instructions)				18	
19	Taxes and licenses				19	3,529
20	Depreciation (attach Form 4562)					
21	Less depreciation claimed on Schedule A and elsewhere on re				21b	
22	Depletion				22	
23	Contributions to deferred compensation plans				23	
24	Employee benefit programs				24	
25	Excess exempt expenses (Schedule I)				25	
26	Excess readership costs (Schedule J)				26	
27	Other deductions (attach schedule)				27	
28	Total deductions. Add lines 14 through 27				28	3,529
29	Unrelated business taxable income before net operating loss of				29	258,614
30	Deduction for net operating loss arising in tax years beginn	ing on	or after January	1, 2018 (see	<u> </u>	
	instructions)				30	
31	Unrelated business taxable income. Subtract line 30 from line	29 .			31	258,614

# Rensselaer Polytechnic Institute

#### 14-1340095

# Form 990-T, Part 1, Line 5 - Income (Loss) from Partnerships For the year ended June 30, 2020

	EIN	Partnership	Income (Loss)
1	98-0587053	Jensen Russian Real Estate Fund II, L P	10,261
2	98-0481298	Reservoir Capital Investment Partners (Cayman), L P	(16,801)
3	20-3033146	Rockpoint Real Estate Fund II, L P	(4,680)
4	20-1713851	Sculptor Real Estate Fund, L P	260,371
5	20-2812490	Sequoia Capital Growth Fund III, LP	(14,294)
6	26-2306799	Square Mile Partners III TE LP	27,415
7	26-1594327	The Värde Fund IX, L P	(129)
			262,143

Rensselaer Polytechnic Institute

14-1340095 6/30/2020

Form 990-T Part III - Line 35 - Net Operating Loss Deduction

6/30/2017 6/30/2019 6/30/2020 6/30/2020	11 561,951 546,717 376,693		(561,951) (387,568) (159,149) (376,693)	(561,351) (387,568) (159,149) (159,149)	(561,951) (387,568) (159,149) (159,149)
(642,838) 495,221		(112.769) (851) (381,601)	- 495,221	(642,838)	(642,838)
0.000	9)   919'19	(51,616)	51,616	9)	- (6
6/30/2014	(410,440)		,	(410,440)	(410,440)
6/30/2013	(1,449,942)		,	(1,449,942)	(1,449,942)
6/30/2012	(1.713,641)		,	(1,713,641)	(1,713,641)
6/30/2011	(4,053,781)			(4,053,781)	(4,053,781)
6/30/2010	(2,283,683)		•	(2,283,683)	(2,283,683)
6/30/2009	(2,399,339)	159.149	•	(2,399,339)	(1.863,497)
6/30/2008	(1,331,120)	381,601 561,951 387,568		(1,331,120)	
6/30/2005	(851)	851		(851)	
6/30/2002	(164,385)	51,616		(164,385)	
	UBTI before NOL and specific deduction	NOL Carryforward from 6/30/2002 to 6/30/2015 NOL Carryforward from 6/30/2002 to 6/30/2017 NOL Carryforward from 6/30/2005 to 6/30/2017 NOL Carryforward from 6/30/2008 to 6/30/2017 NOL Carryforward from 6/30/2008 to 6/30/2018 NOL Carryforward from 6/30/2009 to 6/30/2019 NOL Carryforward from 6/30/2009 to 6/30/2019	NOL utilized	UBTI before specrific deduction	NOL Available for Carryforward

# Rensselaer Polytechnic Institute 14-1340095 6/30/2020

Form 990-T

Schedule C - Rent Income

- Line 3(a) - Deductions directly connected with the income in columns 2(a) and 2(b)

# Deductions directly connected with rental income

Salaries	30,181
Supplies & Services	23,555
Repairs & Replacements	9,907
Property Taxes	5,110
Utilities	4,768
Telephone	2,008
Miscellaneous	2,037
Operations & Maintenance	9,550
	87,116

# Rensselaer Polytechnic Institute

## 14-1340095

For year ending 6/30/2020

#### Form 4136 - Credit for Federal Tax Paid on Fuels

#### 1 Nontaxable Use of Gasoline

Date	Invoice #	Invoice Total	Qty (Gallons)	Unit Price	Total
07/16/19	33393	17,046.21	5,977.00	2.2238	13,291.65
08/23/19	33649	5,142.57	2,027.40	1.9205	3,893.62
08/28/19	372920	6,511.71	2,559.40	1.9279	4,934.27
09/20/19	373094	10,218.20	4,004.60	1.9350	7,748.90
10/14/19	402013	10,119.15	3,950.00	1.9448	7,681.96
11/23/19	590588	12,834.90	5,016.00	1.9419	9,740.57
12/23/19	676227	11,660.02	4,589.30	1.9245	8,832.11
01/29/20	676402	11,589.30	4,592.00	1.9094	8,767.96
03/06/20	676743	11,218.87	4,605.60	1.8249	8,404.76
04/09/20	510407205	6,800.96	5,004.00	0.7895	3,950.66
05/26/20	51052205	8,581.90	5,500.00	0.9830	5,406.50
		111,723.79	47,825.30		82,652.96

Rensselaer Poly	technic Institut	e						
14-1340095								
For year ending	6/30/2020							
		Form 4136 - Credit fo	or Federal Tax Paid o	n Fuels				
3 Nontaxable Use of Undyed Diesel Fuel								
Date	Invoice #	Invoice Total	Qty (Gallons)	Unit Price	Total			
07/18/19	501367	1,727.88	600.00	2.2117	1,327.02			
10/11/19	585752	2;699.67	918.80	2.2679	2,083.75			
11/27/19	633177	1,968.86	555.70	2.8494	1,583.41			
12/20/19	656567	2,470.62	799.80	2.4129	1,929.84			
03/31/20	718459	2,411.65	799.00	2.3479	1,875.97			
05/27/20	815141	1,545.06	800.00	1.3027	1,042.16			
		12,823.74	4,473.30		9,842.15			

# Rensselaer Polytechnic Institute

## 14-1340095

For year ending 6/30/2020

#### Form 4136 - Credit for Federal Tax Paid on Fuels

#### 11 Nontaxable Use of Alternative Fuel

Date	Invoice #	Invoice Total	Qty (Gallons)	Unit Price	Total
03/12/20	2646430	762.25	505.90	1.1185	565.85
03/04/20	2636478	1,157.17	768.00	1.1185	859.01
02/19/20	2472413	1,419.93	934.90	1.1301	1,056.53
02/20/20	2461584	1,150.49	757.50	1.1301	856.05
02/13/20	2455750	1,000.28	658.60	1.1301	744.28
02/05/20	2443434	1,048.89	690.60	1.1301	780.45
01/31/20	2434159	1,524.55	976.50	1.1709	1,143.38
01/24/20	2426211	1,195.12	765.50	1.1709	896.32
01/17/20	2417666	1,225.58	785.00	1.1709	919.16
01/09/20	2408708	633.08	405.50	1.1709	474.80
12/19/19	2382113	1,367.10	814.66	1.2834	1,045.53
12/05/19	2366469	1,138.01	678.10	1.2834	870.27
11/25./19	2353829	861.86	559.80	1.1501	643.83
11/20/19	2341756	1,137.77	739.00	1.1501	849.92
11/14/19	2343216	1,327.91	862.50	1.1501	991.96
11/08/19	2332385	1,416.89	920.30	1.1501	1,058.44
11/01/19	2326340	1,091.27	708.80	1.1501	815.19
10/28/19	2320150	1,173.54	796.40	1.0866	865.37
10/22/19	2313211	1,107.08	751.30	1.0866	816.36
10/17/19	2308745	1,069.22	725.60	1.0866	788.44
10/07/19	2299651	1,175.46	797.70	1.0866	866.78
10/01/19	2292076	1,135.23	770.40	1.0866	837.12
09/26/19	2288135	1,111.96	754.60	1.0866	819.95
09/20/19	2284652	1,117.71	785.50	1.0866	853.52
09/16/19	2280233	941.46	638.90	1.0866	694.23
09/11/19	2275620	1,350.07	916.20	1.0866	995.54
09/05/19	2268642	1,014.11	688.20	1.0866	747.80
08/30/19	2265407	747.68	523.40	1.0433	546.06
08/22/19	2257350	440.70	308.50	1.0433	321.86
08/15/19	2253638	1,190.75	795.00	1.1099	882.37
08/07/19	2249472	1,093.54	730.10	1.1099	810.34
07/31/19	2237997	1,111.26	708.10	1.1787	834.64
07/25/19	2238845	1,226.91	781.80	1.1787	921.52
07/19/19	2234274	1,254.23	799.20	1.1787	942.02
07/12/19	2228523	991.98	632.10	1.1787	745.06
07/02/19	2219948	953.22	607.40	1.1787	715.94
06/24/19	2213225	870.30	545.20	1.2046	656.75
		40,534.56	26,586.76		30,232.63